LOTTE ON

=H|ON
FHE| 2| 7}0| E




=Xt

1. FHE| D22 RAUNL?

2. FHEIDEE ZA SELR?
3. FHEIDE| SE A FoIAE

4 XFEBE R

5. 29X

R ON ZHOfX| I MIEf Of 47

12p

15p



01. 7}E| 2|2t

- 01. = 7IH|n 2|
- 02. EZ 7IHnE| &=+EBE

- 03. ™MA| 7g| 22

24 ON ZHOf K| LM E| Of



- BEZHIZ|Of def Tl 5=, atM 65, FOiXL LO| X8t 52

- BEVE12 JECZ BUMMY, o= 58 HEE 4 UaLith
- DWES0| ot 4ES ) ¥ 4 s TE WEE MBI

‘ b £ > Q ‘
HIHY | 7H2{E S HEIO| DIFDTOSSN

453527 #0626

&

A glojy]
@ o [ EE Q=
——
62,100 ¢
40,1009 s 20| 24 A 8017} >
@ zumory oy
ol 44| Ch2 ol (16 >
62,100 = o
gl 01, k¥ 3,0008

) 5
" :

.

R OHON EHOfX| 2dIE Of 7 &

O| MHEII At=o 2 MNYE

g LTk

2E BH

Ojx}
Lbo| H|3H

kM| o 5



2. ™Al e g

C
EEIIE D27 XS AT D 22 5 BUXTLEY MHsto) &
N FEEERE R
ME SE JrEl e 2lsts
[= 3y B

R OHON EHOfX| 2dIE Of 7 &

HMA| 7He| D 2]
AZXo|E  UMOlR  oYoIF

v v v >
R0 @yl o= g o

v v v

I} T} T}

-
[AOIE] (4BH 1918 37) HoiBB § o] 72
CHe 22 4 2AILHRDS) KMW19523
3398008

EEE soies

" Eren 890

.
= R
e Do = e EEeey

(




02. 7tE| 12| = O F A

- 01. & 7| nE|
- 02. HA| FIe|ng| M

_ 03. BEZ FlH|I22] &

24 ON ZHOf K| LM E| Of

o
I

(113
I

2t

A

o

=

=1

e~

o

LR

?



1. & 7He| 12| &l ¥

e |

ZHON dg{uA > dEaE >
N

BotE 7|} ERZ AMSALE SE0|M HE dEE = ASHCL

FHE| 2| MEH ?

ki
A

es SEF raRF CHER » e wE FHEl a2 2ot
EpeEp— y - s FHEIRE| S MM e
7H/xL »
ZHE/CIRE »
Az ’ Ftel ] M
HElol ey FUe| »
'S »
LE TR ’ KIZ A{EH
1T H -~
Gl o »
REl »
BESE »
= »
AEX A »
HE »
2/ »

ZCON THOHX| 2HE] O 2 6 -



EE7IEH| D27} XIS HA|7

2FEFHHLE| *

A A
BU$2E +

A FHE| 22 *

R OHON EHOfX| 2dIE Of 7 &

tEl 22| & M Jhs Lt
HAIZHH 22| S5E0| ==& LI
MEd ZhsHD MEfSE FLE 2|0 AE0| &S L C)
HES P DB AT R R AE 0| SM/0L 2 E 0T 2
SEI 2T LE FIHIEN SET I 0SEAL HREN FHEE
15.00%
TmesEs HIE4 Asyn () FEIDEE DSE 87
| azme |EERE
AZXRO|F > OFRE0] > IHE
4o > F40reH > I




7O:|O
-

E | o/ | NI\

o

HE7HE D
n=E:
| 85 sS4

L= =
E 2L ONE A4E0|

e
£Q
o
o
4o

L
HEIH S| MY

ZHON

2 5|ON EHOj%|

HOp K| M Ef Of
s

T
M Al/ZOH AlEF
=



01. EE7IE|n2|= TOfX} Qo

02. X% S5& 7HHae|= B Meld

24 ON ZHOf K| LM E| Of



&9l

o
*
(=)

T

o7 > {Mdo|R > 9| > LIE o|F > o do|&F > &9 > 7iC|A

HE=7HH e

oo X} elo
E1e 0 Ot o]
o [

HE =27

ZHON EOfX| 2l E Of 7 -10 -



2] M2 = ASLICL

S50 X = BEE HH2EE S5 273 Al #e M2l ELCt

B MEjE B3R Y dE2 2A0A == 5K FEU
HEHE §E2 SHE 7HH 122 U8 2 X5 2Fe + AgU Lt

TEl > ME0o[3Y > o3

ol>
o

SEl > MEMO|2Y > YBIO|2Y > LA

L Sulwhasoo
waay

i

X RE > 27170 > A& ME

S

HI

AL
T

ROON EHO K| A HIE Of 7 & -11 -



24 ON ZHOf K| LM E| Of

=12 =



L|CF.

b

.
o
=

off =4 0F

LI CMOIA 273

e
o
=

B0l =7+

Gl

5

7tset7ta?

HE2

HAIZHE 22

oL C},

Lo
o

Zte| 2|t HZE FAIZHHLLE] LHOA 7t

st7ta?

Jlo

7}

1E

|

<0

t

7| 12| S 174 o

=
=

I

FLICF

e
o
=]

LICt 271 Ol ME2 =7t

Ea
=

7HH| 12| 2

of

4

ujo

FEl2| 25 HO5HAH =80] FL[C

Yoimy, AP0 X[ o8 LIk

HEA
= O

T7HE| 2] HE2 1EH0] 28, TA|FHY|

-13 -

HION EHoiX| 2l E Of =

2
x



HE& TTRE HE& TTRE
7t & ol 2| of 13.0% RE| 13.0%
olF 13.0% F= 13.0%
Ut s = 13.0% FHEE 13.0%
LEZR/RA 130% , b8 /XL 13.0%
1| 2F A
E4R0LS 9.0% ZHE /B X E 7.0%
e EE 13.0% Fak; 12.0%
ME 12.0% Gl 12.0%
2t/ 0| 13.0% = 2tAH[ A~ 7.0%
ANA/F=LeE 13.0% - -

R ON EHOfX| I MIE] Of 47

- 14 -



AbZZ X cioi3}p
F2/CSK 2|/t S8 Hagy e
A St HYCM E2| or

XHON 2EO0{HIE]>1:122|5}7] RO ON AEO{ME]>1:129|8}7|

(CMARHOA =2l 7ts)

s Al gt2lol £1599-8436

ZHON THOfX| I ME Of 7 »



LOTTE ON

ZeApgtLIC

= wMo| L{E2 TAHLX 7| F2| MH|A0|H, MH[As 25 #HE B ME, HX| 2 £ ASLC
= W] MEAU2 RUleHHA0| AL [T X Y 822 M AHES UL

X HON ZHofA| 2l E Dfj 7 &

11 YY)



